Find the value of x to the nearest hundredth.
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Pythagorean Theorem:
Hypotenuse? = Leg? + Leg?

=Gl

Find the value of each missing side. Leave non-
integer answers in simplified radical form.
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Find the EXACT value of x. Give answer in
simplified radical form.
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Special Right Triangles.



Find the value of each missing side.

Give answers in simplified radical form.
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45° - 45° - 90° Triangle:

also known as an isosceles right triangle. THIS
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ABC is an equilateral triangle.
All sides have a length of 8.
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Draw an altitude from pt. A.

What does this altitude do
to the triangle?
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30° - 60° - 90° Right Triangle:
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o the Hypotenuse is always opposite
the right angle.

e the Long Leg is always opposite the
60° angle.

e the Short Leg is always opposite the
30° angle.

Find the length of the third side in simplified radical form.
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Find the EXACT value of x and y in each triangle. Give
answers in simplified radical form.
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Practice Sheet: Special Right Triangles.

Find the EXACT value of each variable. Give
answers in simplified radical form.



